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    
  

 

 () 
( ) 

GEOGRAPHY (Theory) 

(Punjabi Version) 
 

  :  3    : 70 

Time allowed : 3 hours Maximum Marks : 70 
 

  : 

 (i)     22  

 (ii)      

 Series : GBM/C 227/2 .

Candidates must write the Code on 
the title page of the answer-book. 

 

SET – 2 

             8  + 2    
         .            

          22    

           ( )    

       15           10.15     
10.15   10.30                
      

 Please check that this question paper contains 8 printed pages + 2 Maps. 

 Code number given on the right hand side of the question paper should be written on the 
title page of the answer-book by the candidate. 

 Please check that this question paper contains 22 questions. 

 Please write down the Serial Number of the question before attempting it. 

 15 minute time has been allotted to read this question paper. The question paper will be 
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the 
question paper only and will not write any answer on the answer-book during this period. 
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 (iii)   1  7            1        
    40         

 (iv)   8  13                 
      3           80-100     
   

 (v)   14  20            5       
    150        

(vi)   21  22             
         5     

(vii)                  

(viii)                

 

1. ‘ ’      1

 

2.   -          ?     1 

 

3.            ? 1

 

4.  (  )    ? 1

 

5. “                 ”  
     1

 

6. “              ”     
     1

 

7. ‘   ’       1  



227/2 3 [P.T.O. 

8.              3 

 

9. “  ()              ”  
  3 

 

10.                  : 

 –    1901-2011 

    
   

( ) 

 

  % 

 

 (%) 

1901 1,827 25,851.9 10.84 – 

1911 1,815 25,941.6 10.29 0.35 

1921 1,949 28,086.2 11.18 8.27 

1931 2,072 33,456.0 11.99 19.12 

1941 2,250 44,153.3 13.86 31.97 

1951 2,843 62,443.7 17.29 41.42 

1961 2,365 78,936.6 17.97 26.41 

1971 2,590 1,09,114 19.91 38.23 

1981 3,378 1,59,463 23.34 46.14 

1991 4,689 2,17,611 25.71 36.47 

2001 5,161 2,85,355 27.78 31.13 

2011* 7,935 3,77,000 31.16 31.08 
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(10.1)     ()        ? 

(10.2)   1901  1921         ? 

 (10.3)                1 + 1 + 1 = 3 

              10    

  :

(10.1)      ? 

 (10.2)   ()             ? 

 (10.3)        ? 1 + 1 + 1 = 3 

 

11. “           ,        

    ”      3 

 

12. “  ()            

    ”              

     3 

 

13.        -      3 
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14.               : 5  1 = 5  

 

 (14.1)          

(14.2)          ()     

 (14.3)               1 + 1 + 3 = 5 

              14    

  :

(14.1)              

 (14.2)           

 (14.3)         

 



227/2 6  

15.                  5 × 1 = 5 

 

16.           5 

 

17.         ()                  
  3 + 2 = 5

 

18.                 : 

   () , 1997-2011 

    (   ) 

 1997-98 2003-04 2009-10 2010-11 

    18.93 11.8 10.0 9.9 

    3.03 3.71 4.9 4.0 

  75.83 75.96 67.4 68.0 

    1.01 5.59 16.2 16.8 

   1.2 2.94 1.5 1.2 

 (18.1)             ? 

(18.2)      1997  2011           ? 

 (18.3)                
   1 + 1 + 3 = 5 
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              18    
  :

(18.1)       ? 

 (18.2)                

 (18.3)            

 

19.     ( )             
    5 

 

20. ‘- ’           ‘-’   
         1 + 4 = 5

 

21.            A, B, C, D  E   
                  ,   
     5  1 = 5

(A)     

(B)     

 (C)     

 (D) -  

 (E)     

             21    
  : 

(21.1)          

(21.2)            

 (21.3)         

(21.4)                

(21.5) ::  (U.S.A.)          ? 
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22.                     
  : 5  1 = 5 

(i)            

(ii)      

 (iii)       () 

 (iv)   ( )     

 (v)    ‘       ’

              22    
  :

(22.1)             

(22.2)            ?

 (22.3)       ( )    

(22.4) - ( )        ?

(22.5)     10         

 
_________ 
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